1. KaneHaapHbIn y4ebHbIV rpaduk
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2. CBoAHbIE JaHHbIE

Kypc 1 Kypc 2 Kypc 3 y
TOro
ceM. 1 | cem. 2 Bcero ceM. 1 | cem. 2 Bcero ceM. 1 | ceM. 2 | Bcero
TeopeTnuyeckoe obyueHne 14 131/3 | 271/3 14 131/3 | 271/3 54 2/3
3 DK3aMeHaLUMOHHbIE 5 23 22/3 5 23 22/3 51/3
ceccum
Y | YuebHas npakTuka 4 4 8 2 2 10
| Hayuo-
nccneaoBaTenbckas 2 2 4 4 6
| pabota (paccpes.)
n MNponssoacTBEHHas 4 4 5 6 8 8 8 20
npakTuKa
MoarotoBka
[ | maructepckoi 4 4 4
aunccepraumm
K | KaHukynbl 2 8 10 2 8 10 10 10 30
UToro 22 30 52 22 30 52 26 26 130
CtyneHTOB 5
Mpynn 1




